ECCENTRIC LOCKING COLLARS

G
ds
i IR
ra2 T
x
- - —H ©| ©
B.
n
10
oo
70\ . (<%
S/ ¢
B "
: A Series
Coll DMIons(mm‘)ﬂﬂﬂ‘—— —— S— — e
di
A 201 12
A201-8 | 1/2 286 08
A 202 15 [1.1260 0.0315| 0.1969 | 0.1378 |0.1969| V4-28UNF | MeXi gos
A202-10 | 5/8
A203 17 | 286 08 5 35 5 1/4-28UNF
(A203-11 | 11/16 11260 100315/ 0.1969 [ 0.1378 v 9.0
A204-12 | 3/4 33 08 | 5 4 5
A 204 20 |1.3110 0.0315] 0.1960 | 0.1575 |0.1989] V422NF | MeXi 0.08
A205-14 | 7/8 0.07
A205-15 | 15/16 381 |316| 95 |135| 08 | 04 | 08 | 5 4 5 | eomme | Vet 0.06
A205 25 |1.5000|1.2441| 0.374 {05315 |0.0315[0.0157 0.0315| 0.1969 | 0.1575 [0.1969 0.06
A205-16| 1 0.06
A206-18 | 1-1/8 5 ; ; 0.10
A 206 30 | 445 | 379 | 119 | 159 | 08 | 04 | 08 0.10
A206-19 [1-3/16 1.7520 |1.4921|0.4685 | 0.6260 | 0.0315 |0.0157 | 0.0315 | 0.2362 | 0.1575 |0.1969 GHE=2AUNE | S iMax] 0.10
A206-20 | 1-1/4 0.09
A207-20 | 1-1/4 , 0.20
A207-21 |1-5/16 556 | 447 | 135 | 175 | 08 | 04 | 08 | 65 | 5 7 0.19
A207-22 | 1-3/8 21890 |1.7508/0.5315 | 0.6890 | 0.0315|0.0157 | 0.0315 | 0.2559 | 0.1969 |0.2756/ 5/16-24UNF mex1 0.18
A 207 35 0.18
A207-23 |1-7/16 0.17
A208-24 | 1-1/2 0.22
el g 603 | 494 | 135 | 183 | 16 | 04 | 12 | 65 | 5 7 lssenmnel mexd
A 208-25 (1-9/16 1.0449|0.5315 [ 0.7205 |0.0630|0.0157 | 0.0472 | 0.2559 | 0.1969 [0.2756 g s
0.
: 5
0.7205| 0.0630{0.0157 | 0. 1980 0. o7ra| ¥ Eaowels. MOX1 - B
N - 2
609 | 60 | 135 | 183 | 16 | 04 | 12 | 65 | 5 7 8,26
2%18 i Sl so |27520(2:3622|0:5315|0.7205 00630 0.0157 0.0472 0.2559 |0.1969 |0.2756 5/16-24UNF|  M8X1 g:gi
A2i1-32| 2 0.36
A211-34 | 2-1/8 762 | 669 | 159 [ 207 | 16 | 06 | 12 | 8 6. | 8.4 |on oume | Mioxios ) . 033
A211 55 |3.0000|2.6338(0.6260 [0.8150 [0.0630(0.0236 |0.0472| 0.3150 | 0.2362 |0.3307 MaaxX 0.32
-35 [2-3/16 0.27
A212-36 | 2-1/4 0.44
A212 60 | 842 | 735 | 159 | 23 | 16 | 06 | 16 | 8 6 | 8.4 0.41
A212-38 | 2-3/8 23150 |2.893710.660 |0.8780 | 0.0630 |0.0236 |0.0630 | 0.3150 | 0.2362 |0.3307| ¥8-24UNF | M10X1.25 | ¢ 40
A212-39 |2-7/16 0.38
A213-40 | 2-1/2 % | 79 [1775 25| 16 | 06 | 16 | 85 | 6 | 8.4 0.41
A213 65 |3.3858 3.1102/0.6890 09252 | 0.06300.0236 |0.0630 | 0.3346 | 0.2362 0.3307| YB-24UNF | M10X1.25 | ¢ 39
A214-44 | 2-3/4 968 | 833 | 171 | 235 | 16 | 06 | 16 | 85 | 6 | 8.8
A214 70 |381103.2795/0.6732|0.9252 | 0.0630|0.0236 |0.0630| 0.3346 | 0.2362 |0.3465 SB-ZRRMINRaRERS [ 940
A215 75 (102 [877 | 175 | 239 | 16 | 04 | 16 | 85 | 6 | 88 : 0.63
A215-48| 3 40167 |2 462710.6890 09400 0.06300.0157 |0.0630| 0.3346 | 0.2362 [0.345| IB-24UNF | MIOX125 | ¢ 6
A216 90 1046 206 | 27 | 16 | 04 | 16 | 103 | 7__ | 10.
80 |43307 |3.7244/0.8110 |1.0630 | 0.06300.0157 | 0.0630 | 0.4055 | 0.2756 o.42§2 7/16-20UNF | M12X1.25




G ECCENTRIC LOCKING COLLARS

ds

t-—-H ©| ©
B2
1
2L
AHIE
G
B .
- A Series
. ﬁ D'mons(mmm 7_1-._ L 1 A— - BT
Coll r N — Mass
o. & s H ds
A305-14 | 7/8 0.11
305-15 | 15/16 428 | 332 | 119 | 159 | 0.8 | 04 0.8 6 5 7 0.10
305 25 | 1.6850 |1.3071|0.4685(0.6260 | 0.0315(0.0157| 0.0315 |0.2362|0.1969|0.2756| M8X1 0.10
305-16 1 0.10
A8 |18 | o | 50 [ 424 [ 135|175 | 08 |04 | 08 [67] 5 | 7 it e
306-19 | 1-3/16 1.9685 | 1.6693 (0.5315(0.6890 | 0.0315(0.0157| 0.0315 |0.2638|0.1969|0.2756 0.13
A307-20 | 1-1/4 0.19
307-21 |1-5/16 55 46.7 | 135 | 175 | 0.8 | 04 0.8 | 67 5 5 0.18
307-22 | 1-3/8 2.1654 |1.8386 (0.5315(0.6890| 0.0315(0.0157| 0.0315 |0.2638/0.1969|0.2756| M8X1 0.17
307 35 0.17
307-23 |1-7/16 0.16
A e Bl 635 | 527 | 158 | 206 | 16 |04 | 12 | 8 | 6 | 84 |, 00| 027
308 40 | 25000 |2.0748 (0.6220(0.8110 [ 0.06300.0157| 0.0472 (0.3150|0.2362 | 0.3307 ' 0.26
A309-26 | 1-5/8 0.34
309-27 [1-11/16 70 58 15.8 | 20.6 1.6 | 04 2 8 6 84 |Mioxi2s| 0-33
309-28 | 1-3/4 2.7559 (2.2835 (0.6220(0.8110 | 0.0630(0.0157| 0.0472 |0.3150|0.2362 | 0.3307 i 0.32
309 45 0.31
B §:0_3°‘3°1 11;;71’6 762 | 649 | 174 | 222 | 16 | 04 1.2, =587 6 84 | \110X1.25 g ;g
310 50 |30000 |2.5512|0.6850|0.87400.0630|0.0157 | 0.0472 (0.3425|0.23620.3307 . 0.38
A311-32 2 0.48
311-34 | 2-1/8 83 717 | 17.4 | 22.2 1.6 | 04 o 9 6 8.4 0.44
311 55 |3.2677 |2.8228/0.6850|0.8740 | 0.0630(0.0157 | 0.0472 |0.3543|0.2362 | 0.3307 | M10X1.25| ¢ 43
311-35 [2-3/16 0.43
31 A= ke o] ocmem e “
312 -J 76.2 17.5 23.9_,, 1.6 Aruﬂll'll_'-‘.t&- -“ = 6 -IIJ 4 m°x1 25 ﬂ
12-38 .5039 890/0 0.063 ; . ¢
A313-40 | 2-1/2 97 83.7 | 206 | 27 1.6 | 04 1.6 | 115 6 105 |pqox1 05| 0.69
313 65 |3.8189 |3.2953/0.8110/1.0630 | 0.0630/0.0157| 0.0630 |0.4528|0.2362|0.4134 0.67
A314-44 | 2-3/4 102 | 90.2 [ 23.8 [ 30.2 | 1.6 | 04 1.6 12 6 10.5 G 28
314 70 |4.0157 [3.5512(0.9370[1.1890| 0.0630/0.0157| 0.0630 [0.4724|0.2362|0.4134 :
A 315 75 | 113 | 96.7 | 25.4 | 31.8 1.6 | 04 1.6 13 T 105 | ovie &
315-48 3 4.4488 |3.8071[1.0000|1.2520| 0.0630/0.0157 0.0630 [0.5118|0.2756 | 0.4134 :
A 316 80 | 119 [ 1025 25.4 | 318 [ 2.4 | 04 2 13 7 105 | Mmi6x1.5
4.6850 | 4.0354 1.0000/1.2520 | 0.0945/0.0157| 0.0787 [0.51180.2756|0.4134
A317-52 | 3-1/4 127 | 108.1 | 25.4 | 318 | 2.4 | 04 2 13 7 105 [ \roevis
317 85 |5.0000 |4.25591.0000/1.2520 0.09450.0157| 0.0787 |0.5118|0.2756 | 0.4134 :
A318-56 | 3-1/2 133 [ 1146 286 | 365 | 2.4 | 0.4 2 145 | 7 105 | \oox1.5
318 90 |5.2362 [4.5118[1.1260(1.4370| 0.0945(0.0157| 0.0787 |0.5709]|0.2756|0.41 :
A 319 95 | 140 [ 121.1 | 286 | 365 | 2.4 | 0.4 2 145 7 105 | moox1.5
319-60 | 3-3/4 5.5118 | 4.7677 [1.1260/1.4370 | 0.0945[0.0157| 0.0787 |0.5709/0.2756 | 0.4134 i
A 320 100| 146 | 129.1 | 286 | 365 | 2.4 | 04 25 145 7 105 ‘ !
320-64 4 5.7480 |5.0827|1.1260|1.4370| 0.0945|0.0157 | 0.0984 |0.5709|0.2756 |0.4134| M20X1.5




